3-Lesson 37

1. Solve 37 x 54 using 4 partial products and 2 partial products. Remember to-think in terms of units as
you solve. Write an expression to find the area of each smaller rectangle in the area model. Match each
partial product to its area on the models.

50 4
7 ones _ 5
7 Tones X5 tens | x 4 oneg®——._ X 3 7
2 8 7onesxX4ones

2 5 O 7onesx5tens il

—

1 2 6 3tensX4dones il
+ 14, 5 €& 0 3tensx5Stens e |

1, 9 9 8 ._

1 solve using 4 partial products, Thisis 3

just like what | did in Lesson 36.
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| know one partial product is represented
by the white portion of the large
rectangle. The other partial product is
represented by the shaded portion,

To show 2 partial products, | combine the values
of the top two rectangles, and | combine the
values of the bottom two rectangles.

82 Lesson 37: Transition from four partial products to'the standard algarithm for two-
digit by two-digit multiplication. -
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2. Solve 38 X 46 using 2 partial products and an area model. Match each partial product to its area on the

model.
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I solve for the partial products, i 3 8 ©
and then | find their sum. )

3. Solve the following using 2 partial products. Visualize the area model to help you.
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i visualize the 2 partial products of 5 ones X
74 and 2 tens X 74. | solve for the partial 1, 4 8 0
products and then find their sum.

Lesson 37: Transition from four partial produets ta the standard algorithm for two- 53
digit by two-digit miultiplication,
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